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 Ж4DоEто9коEтP до 400°! 

 �одел8Dуе<4O D4ктуD4 

 �елO9 F6ет 
 �л4дк4O по6еDE=оEтP 

 ДлO 6=утDе==8E 8 =4Dу6=OE D45от 
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ТеD<оEто9к4O Hтук4туDк4 �еGDоD< PC400 W пDед=47=4Gе=4 длO декоD4т86=о9 отделк8 пеGе9 8 к4<8=о6. 
ДопуEк4етEO пD8<е=OтP 6 пD8топоG=о9 о5л4Eт8, 7о=е 64DоG=о9 пл8тO, =4 5л86=8E к топке 5око68=4E пеG8 8л8 
к4<8=4. �акEи<алL=ая те<пеDатуDа MкEплуатации 400°!. �е тDе5ует допол=8телP=о7о Hп4кле64=8O. 
�D8<е=OетEO длO Eо7д4=8O D4ктуD=о9 по6еDE=оEт8 пD8 по<оI8 64л8ко6 8л8 Hп4телO. 

 �КО����'��/� О!�О����Я   
КеD4<8GеEк89 к8Dп8G, 5ето==Oе, Fе<е=т=Oе, 876еEтко6Oе, ко<по78т=Oе оE=о64=8O, <8=еD8то6Oе пл8тO.  
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 Ц6ет 5елO9 

�DоG=оEтP =4 E64т8е 5 ��4 

�DоG=оEтP EFепле=8O E оE=о64=8е< 0,5 ��4 

 4EEод 6одO =4 1 к7 E<еE8 0,18-0,20 л 

 4EEод E<еE8 пD8 толI8=е EлоO 10 << 12-13 к7/<2 

Ж87=еEпоEо5=оEтP 2 G4E4 

 еко<е=дуе<4O толI8=4 =4=еEе=8O 6 1 Eло9 2-15 << 

�4кE8<4лP=4O DD4кF8O 0,315 << 

�оDо7оEто9коEтP 35 F8кло6 

Те<пеD4туD4 окDу64NIе9 EDедO 8 оE=о64=8O пD8 =4=еEе=88 +5°!&+35°! 

Те<пеD4туD4 QкEплу4т4F88 -40°!&+400°! 

!Dок 7од=оEт8 18 <еEOFе6 

�еE уп4ко6к8 20 к7 
 !О!&�� 
ТеD<оEто9к4O Hтук4туDк4 877ото6ле=4 =4 оE=о6е 78дD46л8GеEко7о Fе<е=т=о7о E6O7уNIе7о, пеEк4, <од8D8F8DуNI8E до546ок. �4теD84л 

Qколо78GеEк8 5е7оп4Eе= 8 =е EодеD68т 6Dед=OE пD8<еEе9, ок47O64NI8E отD8F4телP=ое 6о7де9Eт68е =4 7доDо6Pе Gело6ек4. 
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ДлO пD87ото6ле=8O D4Eт6оD4 8EполP7о64тP толPко G8EтOе е<коEт8, 8=EтDу<е=тO 8 6оду. !одеD68<ое <еHк4 пD8 поEтоO==о< 
пеDе<еH864=88 6OEOп4тP 6 U<коEтP E G8Eто9 6одо9 87 D4EGUт4 1 к7 EуEо9 E<еE8 =4 0,18-0,20 л 6одO (=4 1 <еHок 20 к7 – 3,6-4,0 л 6одO) 8 
пеDе<еH4тP до о5D47о64=8O од=оDод=о9 <4EEO.  4Eт6оD =ео5Eод8<о 6OдеD64тP 3-5 <8=ут, 4 74те< по6тоD=о пеDе<еH4тP. �оEле Qто7о 
D4Eт6оD 7ото6 к пD8<е=е=8N.  4Eт6оD <о6=о 8EполP7о64тP 6 теGе=8е 2 G4Eо6 E <о<е=т4 74т6оDе=8O 6одо9. �D8 по6OHе=88 6O7коEт8 D4Eт6оD4 
6 е<коEт8 (6 пDедел4E 6Dе<е=8 687=еEпоEо5=оEт8) =ео5Eод8<о тI4телP=о пеDе<еH4тP е7о 5е7 до546ле=8O 6одO. 
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�еDед оHтук4туD864=8е< пеG8 8л8 к4<8=4, ко=EтDукF8N =ео5Eод8<о пDоEуH8тP, =епоEDедEт6е==о пеDед оHтук4туD864=8е< пеGP 
Dеко<е=дуетEO пDотоп8тP 8 д4тP оEтOтP. �е =4=оE8тP Hтук4туDку =4 <ет4лл8GеEк8е 87дел8O. ! по6еDE=оEт8 =ео5Eод8<о уд4л8тP пOлP, 
<4EлO=Oе пOт=4 8 дDу78е 747DO7=е=8O, пDепOтEт6уNI8е EFепле=8N <4теD84л4 E по6еDE=оEтPN. ОG8Iе==ое оE=о64=8е о5D45от4тP 7Dу=то<. 
�е допуEк4тP 74пOле=8O 747Dу=то64==OE по6еDE=оEте9. �D87ото6ле==O9 D4Eт6оD =4=еEт8 =4 под7ото6ле==уN по6еDE=оEтP келP<о9 8л8 
Hп4теле<, 74те< D47Dо6=OтP пD468ло<, Hп4теле< 8л8 полутеDко<. ДопуEк4етEO пD8<е=е=8е Eтеклотк4=е6OE IелоGеEто9к8E Eеток длO 
4D<8Dо64=8O. ДлO Eо7д4=8O D4ктуD=о9 по6еDE=оEт8 пD8<е=OтP E8л8ко=о6Oе 64л8к8, покDOтOе пDоп8тко9 длO DоD<о6оG=OE 87дел89, 4 
т4к6е 7у5G4тOе Hп4тел8, Iетк8 8 т.д. � пDоFеEEе D45отO 8 6 поEледуNI8е 48 G4Eо6 те<пеD4туD4 6о7дуE4 8 по6еDE=оEт8 оE=о64=8O дол6=4 
5OтP =е =86е +5°! 8 =е 6OHе +35°!, 6л46=оEтP 6о7дуE4 =е дол6=4 пDе6OH4тP 70%. Штук4туD=O9 Eло9 =е дол6е= под6еD74тPEO =47Dе6у до 
пол=о7о 6OEOE4=8O. ОкD4H864=8е теD<оEто9к8<8 EоEт464<8 пD8 =ео5Eод8<оEт8 оEуIеEт68тP =е D4=ее Gе< GеDе7 14 Eуток. 
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�D8 D45оте 8EполP7о64тP EпеFоде6ду 8 EDедEт64 8=д868ду4лP=о9 74I8тO оD74=о6 дOE4=8O, 7Dе=8O, ко6=OE покDо6о6. �D8 поп4д4=88 
D4Eт6оD4 6 7л474 пDо<OтP 8E 5олPH8< кол8GеEт6о< 6одO 8 о5D4т8тPEO к 6D4Gу. �оEле 6Oпол=е=8O D45от 8EполP7уе<Oе 8=EтDу<е=тO 8 
о5оDудо64=8е =ео5Eод8<о тI4телP=о пDо<OтP G8Eто9 6одо9, пDедот6D4т86 74т6еDде64=8е D4Eт6оD4. �еDеGP от дете9. 
 � FелOE Eо6еDHе=Eт6о64=8O теE=оло789, ООО «!едDуE» EоED4=Oет 74 Eо5о9 пD46о 6=оE8тP 87<е=е=8O 6 пDодукF8N, =е 74тD47864NI8е еU оE=о6=Oе E4D4ктеD8Eт8к8, 6=оE8тP 
87<е=е=8O 6 д4==уN теE=8GеEкуN к4Dту. ТеE=8GеEк4O к4Dт4 =е от<е=Oет Eо5лNде=8е EтDо8телP=OE =оD< 8 пD468л  Ф 8 =е 74<е=Oет =ео5Eод8<уN длO д4==о7о 68д4 D45от 
пDоDеEE8о=4лP=уN под7ото6ку 8Eпол=8телO. �Dо876од8телP =е =еEет от6етEт6е==оEт8 74 =4DуHе=8е теE=оло788 пDо6еде=8O D45от, 4 т4к6е 74 пD8<е=е=8е пDодукF88 6 FелOE 8 
уEло68OE, =е ук474==OE 6 д4==о9 теE=8GеEко9 к4Dте. �Eе пDоG=оEт=Oе E4D4ктеD8Eт8к8 ук474=O длO о5D47Fо6 пDодукF88, 6OдеD64==OE  6 теGе=8е 28 Eуток. ! поO6ле=8е< 
=4EтоOIе9 теE=8GеEко9 к4DтO 6Eе пDедOдуI8е 6еDE88 Eт4=о6OтEO =еде9Eт68телP=O<8.                                                                                                                                                  ВеDEия 01.21 


